Using formulas

ManylIntervals
ManyIntervalsWithDeliveryPerOneltem
ManyIntervalsWithDeliveryPerOneltemWithFixedMargin
ManyIntervalsWithDeliveryPerKilogramm
ManyIntervalsWithDeliveryPerRoundedKilogramm
AdvancedDeliveryByQuantityIfNoWeight
© Delivery value is specified
o Delivery value is NOT specified
® AdvancedDelivery
© Delivery value is specified
© Delivery value is NOT specified
® AdvancedDeliveryPerVendor
© Delivery value is specified
O Delivery value is NOT specified
® CalculatedDeliveryPerItem
© Delivery value is specified
o Delivery value is NOT specified

Specific settings for more flexible pricing for delivery. There are both general formulas and specific formulas for a particular Commodity
Provider (it will be indicated separately).

(D Note!

All strategies differ only in delivery calculation. They do not influence goods price.

Click triangle button "Complex settings for advanced users" to set more suitable pricing for delivery:
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The choice of method for calculating delivery will be opened:



Hasgakve rpyne: Jerciute mpywicn
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ManylIntervals

(Suitable for any trade provider)

Fixed cost is added to the total cost regardless of how many products with one code are ordered.

Let's consider how formula works step-by-step and gradually come to final calculation.

Formula uses available delivery value. It checks first if value for price interval is set:



OoGaBneHWe LeHOBOM rpynnbl

HassaHue rpynnel Wirpyusm [
OnucaHwe Hetcrme urpywsn go 1000 roanen
MNpoeaiinep ToBapos Taobao v

Tpynna no yMon4aHuio

WHTepeansl
WHTepean CNY MNpoueHT HaueHk  Pukc. HaueHka CNY 3HadveHue goctaeku CNY  @uKc. HaueHka Ha goctasky CNY
[ns BCeX MHTepBaNoB 20 15

o
Y

21

1000 -

CnoHele HACTPOMKM ANA NPOABWHYTHIX NoNbE30BaTENSN

CoxpaHuts OTMEHHTE

Calculation will be done by total value of delivery if value in interval is not set:



Hdo6aBneHue LeHOBOM rpynnbl

HazsaHue rpynnsl Wrpyiukm [
OnucaHue OeTcxme urpywkm go 1000 roaHed
MNpoeaigep ToBapoe Taocbao A

Tpynna no ymonyaHuio

UHTepeanel
Wntepsan CNY MpoueHT Hauexkn  Pukc. HaueHka CNY 3Hadedue goctaeku CNY  @ukc. HaueHka Ha gocTaeky CNY
[nA BCcex MHTEPEANOE 20 15
0 - | 100 10 21 x
100 - | 1000 > x
1000 - x

CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH

Coxpanutb OTMEHHTD

Delivery value from trade provider (Taobao, 1688, Yahoo, etc.) is used in formula if there is no data on delivery. And the first "step" in
trade provider delivery is used.

On the example of screen-shot delivery cost at this stage will be:

® 10 yuan for goods up to 100 yuan (first interval)
® 20 yuan for goods up to 1000 yuan (second interval)

When delivery is set for formula a fixed markup is added that you set for interval (the highest priority for verification) or total markup
for any interval, or 0 if nothing is specified:



HassaHue rpynne
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CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

MU\

Thus, total delivery price (if you look at example screenshot) will be:

® 10 + 21 = 31 yuan for goods up to 100 yuan (first interval)
® 20 + 15 = 35 yuan for goods up to 1000 yuan (second interval)

ManylIntervalsWithDeliveryPerOneltem

(Suitable for any trade provider)

Fixed (or original) delivery price is added to each product.

Let's consider how formula works step-by-step and gradually come to final calculation.

Formula uses available delivery value. It checks first if value for price interval is set:




OoGaBneHWe LeHOBOM rpynnbl

HassaHue rpynnel Wirpyusm [
OnucaHwe Hetcrme urpywsn go 1000 roanen
MNpoeaiinep ToBapos Taobao v

Tpynna no yMon4aHuio

WHTepeansl
WHTepean CNY MNpoueHT HaueHk  Pukc. HaueHka CNY 3HadveHue goctaeku CNY  @uKc. HaueHka Ha goctasky CNY
[ns BCeX MHTepBaNoB 20 15

o
Y

21

1000 -

CnoHele HACTPOMKM ANA NPOABWHYTHIX NoNbE30BaTENSN

CoxpaHuts OTMEHHTE

Calculation will be done by total value of delivery if value in interval is not set:



Hdo6aBneHue LeHOBOM rpynnbl

HazsaHue rpynnsl Wrpyiukm
OnucaHue OeTcxme urpywkm go 1000 roaHed
MNpoeaigep ToBapoe Taocbao A

Tpynna no ymonyaHuio

UHTepeanel
Wntepsan CNY MpoueHT Hauexkn  Pukc. HaueHka CNY 3Hadedue goctaeku CNY  @ukc. HaueHka Ha gocTaeky CNY
[nA BCcex MHTEPEANOE 20 \ 15
[obaBuTh LIEHOBOW MHTEpPBA
0 - 100 10 21 x
100 - 1000 - ®
1000 - ®

CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH

Coxpanutb OTMEHHTD

Delivery value from trade provider (Taobao, 1688, Yahoo, etc.) is used in formula if there is no data on delivery. And the first "step" in
trade provider delivery is used.

On this example of screen-shot delivery cost at this stage will be:

® 10 yuan for goods up to 100 yuan (first interval)
® 20 yuan for goods up to 1000 yuan

Received delivery value is multiplied by number of goods. If we consider example from screenshot, then delivery value for 10 products
will be:

® 10x10 = 100 yuan for goods up to 100 yuan (first interval)
® 20x10 = 200 yuan for goods up to 1000 yuan (second interval)

When delivery formula is defined and it is multiplied by the number of goods, a fixed markup is added to value obtained, which you set
for interval (the highest priority for verification) or common for any interval or 0, if nothing is specified:

Thus, total delivery price for 10 goods (if you look at example screenshot) will be:

® 10x10 + 21
® 20x10 + 15

121 yuan for goods up to 100 yuan (first interval)
215 yuan for goods up to 1000 yuan (second interval)

ManylIntervalsWithDeliveryPerOneltemWithFixedMargin

(Suitable for any trade provider)
Original shipping cost is added to specified fixed shipping cost and added to each unit of product.
Let's consider how formula works step-by-step and gradually come to final calculation.

Formula uses available delivery value of trade provider, namely the first step in shipping cost (for example, the first kg of product
costs 13 yuan).

On this example delivery cost at this stage will be:

® for goods up to 100 yuan (first interval): 13 yuan



® for goods up to 1000 yuan (second interval): 13 yuan

Then, it is checked whether value for price interval is indicated:

Oo6aBneHne LeHOBOM rpynnbl

Hassanue rpynnsl Wrpywukm [
OnucaHne [etckme urpyukk go 1000 woaHei
Mpoeaiinep Tosapos Taobao v

Tpynna no yMonuaH1io

WHTepBankl
Wutepsan CNY MpoueHT Hauexk  Pukc Hauedka CNY 3uadenwe foctasku CNY  @ukc HaueHka Ha noctasky CNY
InA Bcex WHTepBanos 20 15

0 - | 100 &1 10 21
100 - | 1000
1000 -

CnoHble HACTPOMKM ANA NPOABWHYTHIX NOMb30BaTENEN

CoxpaHuTb OTMeHUTb

Calculation will be based on total value of delivery if value is not specified in the interval:



Hdo6aBneHue LeHOBOM rpynnbl

HazsaHue rpynnsl Wrpyiukm [
OnucaHue OeTcxme urpywkm go 1000 roaHed
MNpoeaigep ToBapoe Taocbao

Tpynna no ymonyaHuio

UHTepeanel

Wntepsan CNY MpoueHT Hauexkn  Pukc. HaueHka CNY 3Hadedue goctaeku CNY  @ukc. HaueHka Ha gocTaeky CNY

[nA BCcex MHTEPEANOE 20 \ 15

[NobaBuTs LIEHOBOW WHTEpPBAN

0 - | 100 10 21 ®
100 - | 1000 > x
1000 - x

CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH

Coxpanutb OTMEHHTD

Thus, if we consider example from screenshot and take into account that the first kg of delivery of commodity provider costs 13 yuan,
then delivery value for 1 item will be:

® 13410 = 23 yuan for goods up to 100 yuan (first interval)
® 13420 = 33 yuan for goods up to 1000 yuan (second interval)

Received delivery value is multiplied by number of goods. If we consider example above, then delivery value for 10 products will be:

® (13+10) x10 = 230 yuan for goods up to 100 yuan (first interval)
® (13+20) x10 = 330 yuan for goods up to 1000 yuan (second interval)

When delivery is defined for formula and multiplied by number of items, a fixed markup is added to value obtained, which you set for
interval (highest priority for verification) or common for any interval:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm B
OnucaHue Netckue wrpywkr go 1000 roaqedn
MpoBaiigep ToBapoB Taobao v

Mpynna no yMonyaxuio

WHTepBans!
WMutepean CNY MpoueHT HaleHk  Puic. HaueHka CNY 3Hadenue goctaskn CNY | @ukc. HaueHka Ha fqoctasky CNY
Ina Bcex MHTepsanos 20 15 \

05aBUTb LIEHOBOI MHTEPBAN M }-I m

0 - | 100 1L »] 21 H]
100 - | 1000 %
1000 - x

CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

CoxpaHuTs OTMEHUTB

Thus, total delivery price (if you look at example screenshot and take into account all previous calculations using this formula) will be:

® for goods up to 100 yuan (first interval): (134+10)x10 + 21 = 251 yuan
® for goods up to 1000 yuan (second interval): (13+20)x10 + 15 = 345 yuan

ManylIntervalsWithDeliveryPerKilogramm

(Suitable for any trade provider)
This formula takes into account goods weight. Fixed delivery is multiplied by weight of 1 unit of product.
Let's consider how formula works step-by-step and gradually come to final calculation.

Formula uses available delivery value first: it checks whether value for price interval is specified:



OoGaBneHWe LeHOBOM rpynnbl

HassaHue rpynnel Wirpyusm [
OnucaHwe Hetcrme urpywsn go 1000 roanen
MNpoeaiinep ToBapos Taobao v

Tpynna no yMon4aHuio

WHTepeansl
WHTepean CNY MNpoueHT HaueHk  Pukc. HaueHka CNY 3HadveHue goctaeku CNY  @uKc. HaueHka Ha goctasky CNY
[ns BCeX MHTepBaNoB 20 15

o
Y

21

1000 -

CnoHele HACTPOMKM ANA NPOABWHYTHIX NoNbE30BaTENSN

CoxpaHuts OTMEHHTE

Calculation will be done by total value of delivery if value in interval is not set:



Hdo6aBneHue LeHOBOM rpynnbl

HazsaHue rpynnsl Wrpyiukm 2]
OnucaHue OeTcxme urpywkm go 1000 roaHed
MNpoeaigep ToBapoe Taocbao A

Tpynna no ymonyaHuio

UHTepeanel
Wntepsan CNY MpoueHT Hauexkn  Pukc. HaueHka CNY 3Hadedue goctaeku CNY  @ukc. HaueHka Ha gocTaeky CNY
[nA BCcex MHTEPEANOE 20 \ 15
[obaBuTh LIEHOBOW MHTEpPBA
0 - 100 10 21 x
100 - 1000 - ®
1000 - ®

CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH

Coxpanutb OTMEHHTD

Delivery value from trade provider (Taobao, 1688, Yahoo, etc.) is used in formula if there is no data on delivery. And the first "step" in
trade provider delivery is used.

Thus, delivery price (if you look at example screenshot) on this step will be:

® 10 yuan for goods up to 100 yuan (first interval)
® 20 yuan for goods up to 1000 yuan (second interval)

Product weight is checked for further calculation. It is checked first whether there is real weight or not (from trade provider). Secondly,
approximate weight (Metrologist module) is checked if real one is absent. Thirdly, product weight is equal to 1 kg if approximate one is
absent.

Thus, delivery price on this step will be (if 1 product = 1kg):

® 10x1
® 20x1

10 yuan for goods up to 100 yuan (first interval)
20 yuan for goods up to 1000 yuan (second interval)

Quantity of goods is taken into account further. This number is multiplied with weight, therefore, shipping cost calculation for 10
products will look different:

® 10x1x10 = 100 yuan for goods up to 100 yuan (first interval)
® 20x1x10 = 200 yuan for goods up to 1000 yuan (second interval)

When delivery is defined for formula, fixed markup is added that you set for interval (highest priority for verification) or general for any
interval or 0 if nothing is specified:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm B
OnucaHue Netckue wrpywkr go 1000 roaqedn
MpoBaiigep ToBapoB Taobao v

Mpynna no yMonyaxuio

WHTepBans!
WMutepean CNY MpoueHT HaleHk  Puic. HaueHka CNY 3Hadenue goctaskn CNY | @ukc. HaueHka Ha fqoctasky CNY
Ina Bcex MHTepsanos 20 15 \

A MHTEPBAN Mﬂ m
0 - | 100 1L »] 21 H]
100 - | 1000 x
1000 - x

CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

CoxpaHuTs OTMEHUTB

Thus, total delivery price (if you look at example screenshot and take into account all previous calculations using this formula) will be:

® 10x1x10 + 21 = 121 yuan for goods up to 100 yuan (first interval)
® 20x1x10 + 15 = 215 yuan for goods up to 1000 yuan (second interval)

ManylIntervalsWithDeliveryPerRoundedKilogramm

(Suitable for any trade provider)
Calculation takes into account weight of goods, rounded to even kilograms. Total weight of all goods with one article is rounded off.
Let's consider how formula works step-by-step and gradually come to final calculation.

Formula uses available delivery value first: it checks whether value is indicated for price range:



OoGaBneHWe LeHOBOM rpynnbl

HassaHue rpynnel Wirpyusm [
OnucaHwe Hetcrme urpywsn go 1000 roanen
MNpoeaiinep ToBapos Taobao v

Tpynna no yMon4aHuio

WHTepeansl
WHTepean CNY MNpoueHT HaueHk  Pukc. HaueHka CNY 3HadveHue goctaeku CNY  @uKc. HaueHka Ha goctasky CNY
[ns BCeX MHTepBaNoB 20 15

o
Y

21

1000 -

CnoHele HACTPOMKM ANA NPOABWHYTHIX NoNbE30BaTENSN

CoxpaHuts OTMEHHTE

Calculation will be done by total value of delivery if value in interval is not set:



Hdo6aBneHue LeHOBOM rpynnbl

HazsaHue rpynnsl Wrpyiukm 2]
OnucaHue OeTcxme urpywkm go 1000 roaHed
MNpoeaigep ToBapoe Taocbao A

Tpynna no ymonyaHuio

UHTepeanel

Wntepsan CNY MpoueHT Hauexkn  Pukc. HaueHka CNY 3Hadedue goctaeku CNY  @ukc. HaueHka Ha gocTaeky CNY

[nA BCcex MHTEPEANOE 20 \ 15

[obaBuTh LIEHOBOW MHTEpPBA

0 - 100 10 21 x
100 - 1000 - ®
1000 - ®

CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH

Coxpanutb OTMEHHTD

Delivery value from trade provider (Taobao, 1688, Yahoo, etc.) is used in formula if there is no data on delivery. And the first "step" in
trade provider delivery is used.

Thus, delivery price (if you look at example screenshot) on this step will be:

® 10 yuan for goods up to 100 yuan (first interval)
® for goods up to 1000 yuan (second interval): 20 yuan

Product weight is checked for further calculation. It is checked first whether there is real weight or not (from trade provider). Secondly,
approximate weight (Metrologist module) is checked if real one is absent. Thirdly, product weight is equal to 1 kg if approximate one is
absent.

Thus, delivery price on this step will be (if 1 product = 0,47 kg):

® 10x0,47
® 20x0,47

7 yuan for goods up to 100 yuan (first interval)
4 yuan for goods up to 1000 yuan (second interval)

4I
9!
Quantity of goods is taken into account further. This number is multiplied with weight and rounded to a larger side, so for 10 products
shipping cost calculation will look different in this calculation.

First 0,47x10 = 4,7 = 5. Then it is rounded 0,47x10 = 4,7 = 5 and is used in formula:

® 10 x ((0,47x10
® 20 x ((0,47x10

0 yuan for goods up to 100 yuan (first interval)
00 yuan for goods up to 1000 yuan (second interval)

= U

)~ 5) =
)~ 5) =

When delivery is defined for formula, fixed markup is added that you set for interval (highest priority for verification) or general for any
interval or 0 if nothing is specified:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm B
OnucaHue Netckue wrpywkr go 1000 roaqedn
MpoBaiigep ToBapoB Taobao v

Mpynna no yMonyaxuio

WHTepBans!
WMutepean CNY MpoueHT HaleHk  Puic. HaueHka CNY 3Hadenue goctaskn CNY | @ukc. HaueHka Ha fqoctasky CNY
Ina Bcex MHTepsanos 20 15 \

00aBUTL LIEHOBOW MHTEPBAN M }-I m

0 - | 100 10 > x
100 - | 1000 x
1000 - x

CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

CoxpaHuTs OTMEHUTB

Thus, total delivery price (if you look at example screenshot and take into account all previous calculations using this formula) will be:

* 10 x ((0,47%10)
* 20 x ((0,47%10)

5) + 21

71 yuan for goods up to 100 yuan (first interval)
5)+ 15

115 yuan for goods up to 1000 yuan (second interval)

~
I~

AdvancedDeliveryByQuantityIfNoWeight
(Used only for Taobao and set by default)

It calculates internal delivery by weight if set by seller or by quantity as Taobao.

Let's consider how formula works step-by-step and gradually come to final calculation.

It is important whether delivery value (total and / or intervals) is specified:



Jo6aBneHue LEeHOBOW rpynnbl

HassaHue rpynnel Wrpywkm A
Onucanue [eTckme MrpyLUKkwM
MpoBaiinep ToBapos Taobao T

Mpynna no ymonyaxuio

WHTepBansl
WuTtepsan CNY MpoueHT HaueHkn  ®ukc. HaueHka CNF 3Hauyenwe goctaekn CNY | ®ukc. HaueHka Ha goctaeky CNY
[na Bcex nHTEpBaNOB 20 15

0 - | 100 10 21 x
100 - 1000 ®
1000 - x

CnosHble HACTPOWKU ANA NPOABKHYTEIX NoNb30BaTENEH

CoxpaHuTb OTMEHHTB

Delivery value is specified

Delivery value will be used for calculation if it is specified. Delivery value will be also used if the trade provider did not specify delivery
value by weight steps.

It is checked first whether value for price range is specified:



OoGaBneHWe LeHOBOM rpynnbl

HassaHue rpynnel Wirpyusm [
OnucaHwe Hetcrme urpywsn go 1000 roanen
MNpoeaiinep ToBapos Taobao v

Tpynna no yMon4aHuio

WHTepeansl
WHTepean CNY MNpoueHT HaueHk  Pukc. HaueHka CNY 3HadveHue goctaeku CNY  @uKc. HaueHka Ha goctasky CNY
[ns BCeX MHTepBaNoB 20 15

o
Y

21

1000 -

CnoHele HACTPOMKM ANA NPOABWHYTHIX NoNbE30BaTENSN

CoxpaHuts OTMEHHTE

Calculation will be done by total value of delivery if value in interval is not set:



Hdo6aBneHue LeHOBOM rpynnbl

HazsaHue rpynnsl Wrpyiukm [
OnucaHue OeTcxme urpywkm go 1000 roaHed
MNpoeaigep ToBapoe Taocbao A

Tpynna no ymonyaHuio

UHTepeanel
Wntepsan CNY MpoueHT Hauexkn  Pukc. HaueHka CNY 3Hadedue goctaeku CNY  @ukc. HaueHka Ha gocTaeky CNY
[nA BCcex MHTEPEANOE 20 15
0 - | 100 10 21 x
100 - | 1000 > ®
1000 - x

CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH

Coxpanutb OTMEHHTD

Delivery price (if you look at example screenshot) on this step will be:

® 10 yuan for goods up to 100 yuan (first interval)
® 20 yuan for goods up to 1000 yuan (second interval)

Received delivery value is multiplied by number of goods. If we consider example from screenshot, then delivery value for 10 products
will be:

® 10x10 = 100 yuan for goods up to 100 yuan (first interval)
® 20x10 = 200 yuan for goods up to 1000 yuan (second interval)

When delivery is defined for formula, fixed markup is added that you set for interval (highest priority for verification) or general for any
interval or 0 if nothing is specified:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm &
OnucaHue Netckue wrpywkr go 1000 roaqedn
MpoBaiigep ToBapoB Taobao v

Mpynna no yMonyaxuio

WHTepBans!

WMutepean CNY MpoueHT HaleHk  Puic. HaueHka CNY 3Hadenue goctaskn CNY | @ukc. HaueHka Ha fqoctasky CNY
Ina Bcex MHTepsanos 20 15 \

0 - | 100 1L »] 21

100 - | 1000

1000 -

CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

CoxpaHuTs OTMEHUTB

Thus, total delivery price (if you look at example screenshot) for 10 goods will be:

® 10x10 + 21 = 121 yuan for goods up to 100 yuan (first interval)
® 20x10 + 15 = 215 yuan for goods up to 1000 yuan (second interval)

Delivery value is NOT specified



HOo6aBneHue LeHOBOW rpynnbl

HassaHue rpynnel WrpyLwkm (2]
OnucaHne [eTckre UrpyLLKK
poBaiaep ToBapos Taobao v

pynna no ymMonuaHuio

WHTepBans!

WHrepean CNY MpoueHT HaueHkn  Pukc. HayeHka CNY| 3Hadenve goctaekm CNY | @ukc. HaueHka Ha goctasky CNY

[na BCex MHTEpBaNOE

CnoHble HACTPOWKKM ANA NPOABMHYTHIX NOMb30BaTenen

CoxpaHuTb OTMEHHTL

Delivery value provided by provider itself (Taobao, 1688, Yahoo, etc.) is used in the formula if it is not specified (or selected goods do
not fall under the influence of existing price groups). And calculation of weight by "steps" in provider delivery is used (for example, the
first kg is 7 yuan, each subsequent kg is 5 yuan - this rate depends on commodity provider).

Real weight is checked and product weight is equal to 1 kg if real one is absent.

Delivery price on this step (on the example of this calculation) will be ((for example, the first kg is 7 yuan, each subsequent kg is 5
yuan):

® 7 yuan for goods with weight 0,5 kg
® 7 yuan for goods with unknown weight

Received delivery value is multiplied by number of goods and delivery depends on delivery step cost. If we consider example from
screenshot, then delivery value for 10 products will be:

® for goods with weight 0,5 kg: 0,5 x 10 = 5 kg (first kg is 7 yuan, subsequent 4 kg by 5 yuan) 7 + 4x5 = 27 yuan.
® for goods with unknown weight : 1x10 = 10 kg (first kg is 7 yuan, subsequent 9 kg by 5yuan) 7 4+ 9x5 = 52 yuan.

When delivery is defined for formula, fixed markup is added that you set for interval (highest priority for verification) or general for any
interval or 0 if nothing is specified:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm B
OnucaHue Netckue wrpywkr go 1000 roaqedn
MpoBaiigep ToBapoB Taobao v

Mpynna no yMonyaxuio

WHTepBans!
WMutepean CNY MpoueHT HaleHk  Puic. HaueHka CNY 3Hadenue goctaskn CNY | @ukc. HaueHka Ha fqoctasky CNY
Ina Bcex MHTepsanos 20 15 \
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Thus, total delivery price (if you look at example screenshot) for 10 goods will be:
® for goods with weight 0,5 kg and price up to 100 yuan: 0,5 x 10 = 5 kg (first kg is 7 yuan, subsequent 4 kg by 5 yuan) 7 +
4x5 = 27 + 21 = 48 yuan.

® for goods with unknown weight and price more than 100 yuan: 1x10 = 10 kg (first kg is 7 yuan, subsequent 9 kg by 5yuan)
7 + 9x5 =52 + 15 = 67 yuan.

AdvancedDelivery
(Used only for Taobao)

Fixed delivery price is added to each unit of the product, taking into account its weight. Goods weight is taken into account if seller set
shipping cost by weight steps (that is, delivery cost of the first kg and subsequent kg).

Let's consider how formula works step-by-step and gradually come to final calculation.

It is important whether delivery value (total and / or intervals) is specified:



Jo6aBneHue LEeHOBOW rpynnbl

HassaHue rpynnel Wrpywkm A
Onucanue [eTckme MrpyLUKkwM
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[na Bcex nHTEpBaNOB 20 15

0 - | 100 10 21 x
100 - 1000 ®
1000 - x
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CoxpaHuTb OTMEHHTB

Delivery value is specified

If delivery value is set, this value will be used for calculations. Also, delivery value will be used if trade provider did not specify delivery
value for weight steps.

It is checked first if value for price interval is specified:



OoGaBneHWe LeHOBOM rpynnbl
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CoxpaHuts OTMEHHTE

Calculation will be done by total value of delivery if value in interval is not set:
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CrnoxHble HACTPOHKK ANA NPOABMHYTHIX NONb30BATENEH
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Delivery price (if you look at example screenshot) on this step will be:

® 10 yuan for goods up to 100 yuan (first interval)
® 20 yuan for goods up to 1000 yuan (second interval)

Received delivery value is multiplied by number of goods. If we consider example from screenshot, then delivery value for 10 products
will be:

® 10x10 = 100 yuan for goods up to 100 yuan (first interval)
® 20x10 = 200 yuan for goods up to 1000 yuan (second interval)

When delivery is defined for formula, fixed markup is added that you set for interval (highest priority for verification) or general for any
interval or 0 if nothing is specified:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm &
OnucaHue Netckue wrpywkr go 1000 roaqedn
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CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

CoxpaHuTs OTMEHUTB

Thus, total delivery price (if you look at example screenshot) for 10 goods will be:

® 10x10 + 21 = 121 yuan for goods up to 100 yuan (first interval)
® 20x10 + 15 = 215 yuan for goods up to 1000 yuan (second interval)

Delivery value is NOT specified



HOo6aBneHue LeHOBOW rpynnbl

HassaHue rpynnel WrpyLwkm )
OnucaHne [eTckre UrpyLLKK
poBaiaep ToBapos Taobao v
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WHTepBans!

WHrepean CNY MpoueHT HaueHkn  Pukc. HayeHka CNY| 3Hadenve goctaekm CNY | @ukc. HaueHka Ha goctasky CNY
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CnoHble HACTPOWKKM ANA NPOABMHYTHIX NOMb30BaTenen

CoxpaHuTb OTMEHHTL

If delivery value is NOT specified (or selected goods do not fall under the influence of existing price groups), delivery value from trade
provider (Taobao, 1688, Yahoo, etc.) is used in formula. And calculation of weight by "steps" in provider delivery is used (for example,
the first kg is 7 yuan, each subsequent kg is 5 yuan - this rate depends on commodity provider).

Real weight is checked and product weight is equal to the First step of delivery (if the First step is 1 kg then product weight will be 1
kg, if the first step is 0,5 kg the product weight will be 0,5 kg).

Delivery price on this step (on the example of this calculation) will be (for example, rate: first kg 7 yuan, each subsequent kg is 5 yuan)

® 7 yuan for goods with weight 0,5 kg
® 7 yuan for goods with unknown weight

Received delivery value is multiplied by number of goods and delivery depends on delivery step cost. If we consider example from
screenshot, then delivery value for 10 products will be:

® for goods with weight 0,5 kg: 0,5 x 10 = 5 kg (first kg is 7 yuan, subsequent 4 kg by 5 yuan) 7 + 4x5 = 27 yuan.
® for goods with unknown weight : 1x10 = 10 kg (first kg is 7 yuan, subsequent 9 kg by 5yuan) 7 4+ 9x5 = 52 yuan.

When delivery is defined for formula, fixed markup is added that you set for interval (highest priority for verification) or general for any
interval or 0 if nothing is specified:



HNoGaBneHue LeHOBOM rpynnbl

HassaHue rpynnb! Wirpywusm &
OnucaHue Netckue wrpywkr go 1000 roaqedn
MpoBaiigep ToBapoB Taobao v

Mpynna no yMonyaxuio

WHTepBans!

WMutepean CNY MpoueHT HaleHk  Puic. HaueHka CNY 3Hadenue goctaskn CNY | @ukc. HaueHka Ha fqoctasky CNY

Ina Bcex MHTepsanos 20 15 \

0 - | 100 1L »] 21 H]
100 - | 1000 x
1000 - x

CnoxHble HACTPONKM ANA NPOABNHYTHIX NoNb3oBaTENeR

CoxpaHuTs OTMEHUTB

Thus, total delivery price (if you look at example screenshot) for 10 goods will be:

® for goods with weight 0,5 kg and price up to 100 yuan: 0,5 x 10 = 5 kg (first kg is 7 yuan, subsequent 4 kg by 5 yuan) 7 +
4x5 = 27 + 21 = 48 yuan.

® for goods with unknown weight and price more than 100 yuan: 1x10 = 10 kg (first kg is 7 yuan, subsequent 9 kg by 5yuan)
7 + 9x5 =52 + 15 = 67 yuan.

AdvancedDeliveryPerVendor

(Used only for Taobao)

Delivery according to Taobao rules: calculates total delivery to all goods of one seller. Final delivery cost is displayed in the cart. Local
delivery cost is also indicated on the item card, but it does not change with the quantity of goods and is used for informational
purposes only.
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Important condition
With this strategy, prices will vary depending on the number of ordered of goods and selected rounding.

Go to "Price" tab to set rounding:


https://docs-en.otcommerce.com/display/OTENGLISHDOCS/Price
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Price rounding is an important setting for correct display of delivery costs by sellers! Rounding always happens for the most part, so it
is not only convenient for buyers, but also beneficial for you.

Let's consider how formula works step-by-step and gradually come to final calculation.

What is important is whether delivery value "General for all intervals" was specified. Value by intervals is not taken into account:

Oo6aBneHne LeHOBOW rpynnbl

Hazsanue rpynnel WIrpyLukm B
OnucaHue NeTckne MrpyLuxmn
MNpoeaiigep Tosapos Taobao v

Tpynna no yMonyaxuo

WHTepeans!
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[na BCex WHTEPBANOB 20 15
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CoxpaHuTs OTMEHMTE

Delivery value is specified

Delivery value will be used for calculation if it is specified (value by intervals is not taken into account:).



Ado6aBrneHue LeHOBOW rpynnbl

HazsaHue rpynnel WrpyLukm B
OnucaHwe [eTcrkue MrpyLUKK
Mposaiinep ToBapos Tacbao v

Ipynna no ymon4axnto
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CoxpaHuTb OTMeHUTb

If we consider example from screenshot, then delivery value of all goods in the cart on this step will be 20 yuan.

Fixed markup is added to the value obtained (no mark-up is taken into account for the individual intervals) when delivery is
determined for the formula.

HNoGaBneHune LeHOBOM rpynnol

Hazsanue rpynnsi Wrpyukm [
OnwucaHue [eTckne UrpyLUKM
[Npoeainep ToBapos Taobao v

Tpynna no ymonuaxmio

WHTepBanel
WHrepean CNY MpoueHT HaueHkn  Pukc. HaueHka CNY 3nauenve gocraskm CNY | ®ukc. HaueHka Ha goctasky CNY
[nA Bcex MHTepBanos 20 15

CnoxHble HACTPOWKW ANA NPOABUHYTLIX NOMb30BaTENEH

CoxpaHuTs OTMEHHUTB

Fixed Mark will be added to the total delivery of each seller, whose goods at the time of the calculation are in the Buyer’s cart since
goods are combined in the cart by sellers.

Thus, if you look at the example of a screenshot, the total cost of delivery for one seller will be:



® 20 + 15 = 35 yuan.

Delivery value is NOT specified

Ao6aBneHue LeHoBOM rpynnbl

HazsaHue rpynnel MrpyLukm 2]
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WUHTepBane!
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CoxpanuTs OTMEHUTE

If Delivery value is NOT specified (or selected goods do not fall under the influence of existing price groups), delivery value from trade
provider (Taobao, 1688, Yahoo, etc.) is used in formula if there is no data on delivery. And calculation of weight by "steps" in provider
delivery is used (for example, the first kg is 7 yuan, each subsequent kg is 5 yuan - this rate depends on commodity provider).

The total weight of the product is used (for example, 0.5 kg) for calculation. Consider calculation on the example of 10 products from
one seller and Provider delivery value “first kg 7 yuan, each subsequent kg 5 yuan”:

® 0,5 x 10 = 5kg (first kg 7 yuan, subsequent 4 kg by 5yuan) 7 + 4x5 = 27 yuan.

Fixed Markup is added to the resulting value when delivery is determined for the formula and multiplied by nhumber of goods.



Ao6aBneHune LeHOBOW rpynnbl

HassaHue rpynnei MrpyLukm ]
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CoxpaHuTb OTMEHUTL

Thus, if you look at the example of a screenshot, the total cost of delivery of 10 goods of one seller will be:

® for goods of one seller: 0,5 x 10 = 5 kg (first kg 7 yuan, subsequent 4 kg by 5yuan) 7 + 4x5 =27 + 21 = 48 yuan.

CalculatedDeliveryPerltem

(Used only for 1688)

Delivery according to the rules of 1688: calculates total delivery to all products of the same article and different configurations.
Displayed in the shopping cart.

(Available for 1.7.7. and higher version of admin panel)
This formula helps to work with wholesale lots: combines goods of the same article but different configurations in the basket into one

group and sets total cost of internal delivery. Delivery cost is indicated in the item card but does not affect calculation and used for
informational purposes only.
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Important conditions:

® goods should have one article.
® goods can have different configurations (within the same article, for example: color, size, equipment)

Let's consider how formula works step-by-step and gradually come to final calculation.

What is important is whether delivery value "General for all intervals" was specified. Setting separately for intervals is

account:

not taken into
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Delivery value is specified

Delivery value will be used for calculation if it is specified. (value by intervals is not taken into account:).
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If we consider example from screenshot, then delivery value of all goods in the cart with one article on this step will be 20 yuan.

Fixed markup is added to the value obtained (no mark-up is taken into account for the individual intervals) when delivery is
determined for the formula.

AJoGaBneHune LeHOBOM rpynnol
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CnosHble HACTPOWKK ANA NPOABMHYTHIX NONb30BaTENSM

CoxpaHuTb OTMEHHTB

Fixed Mark will be added to the total delivery of each single article, whose goods at the time of the calculation are in the Buyer’s cart si
nce goods are combined in the cart by articles.

Thus, if you look at the example of a screenshot, the total cost of delivery of one article (but different configurations) will be:

® 20 + 15 = 35 yuan.

Delivery value is NOT specified
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If delivery value is NOT specified (or selected goods do not fall under the influence of existing price groups), delivery value from trade
provider (Taobao, 1688, Yahoo, etc.) is used in formula if there is no data on delivery, based on the number of products of the same
article that have been selected. For example, delivery of 10 goods of one article will be 37 yuan.

Fixed Markup is added to the resulting value when delivery is determined for the formula:

Ao6GaBneHune LeHOBOM rpynnbl
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diffierent




Thus, if you look at the example of a screenshot, the total cost of delivery of 10 goods of one article (but different configurations) will
be:

* 37 + 15 = 52 yuan.
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